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Let vl_zboolean : t=>0 be given. Let k4_zboolean : t=>t=>1 be given. Let
k7_xboolean : 1=-1=>1 be given. Let vl_zboole 0 : 1=-0 be given. Let k1_xboole0 :
t be given. Let vl_xemplz_ 0 : t=-0 be given. Let k3_xemplx 0 : t=1=>1 be
given. Let np__1 : ¢ be given. Let k6_numbers : ¢ be given. Let np__0 : ¢ be
given. Let k6_zcmplz_ 0 : 1=1=-1 be given. Let k3_zboolean : 1= be given. Let
k2_xboolean : v be given. Let k1_xboolean : ¢ be given. Let k6_rboolean : t.=1=>1
be given. Let k5_xboolean : t=>1=>1 be given. Let v7_ordinall : t=-0 be given.
Assume the following.

VXO0.(vl_xboole-0 X0)=(X0 = kl_zboole0) (1)

Assume the following.
VX0.(vl-xemple 0 X0)=(k3_zcmplz_0 np__1 X0 = X0) (2)

Assume the following.
VX0.(vlxemple 0 X0)=(k3_zcmplr0 X0 k6_numbers = k6_numbers) (3)

Assume the following.

vl_zboole_0 np_0 (4)

Assume the following.
k6_zemplz 0 np__1 np__1 =np_0 (5)

Assume the following.
k6_zemplez 0 np__1 np_ 0 =np__1 (6)

Assume the following.
k6_numbers = k1_zboole_0 (7)

Assume the following.

VX0.(vl_xboolean X0)=-(k3_zboolean (k3_xboolean X0) = X0) (8)



Assume the following.

VX0.VX1.((vl_zboolean X0)A(vl_zboolean X1))=(
k4_xboolean X0 X0 = X0)

Assume the following.
vl_xboolean k2_xboolean

Assume the following.
vl_zboolean kl_zboolean

Assume the following.
VX0.(vl-zboolean X0)=-(vl_zboolean (k3_zboolean X0))
Assume the following.

VXO0.(vl-xboolean X0)=(VX1.(vl_zboolean X1)=(k7_zboolean
X0 X1 = k4_zboolean (k6_zboolean X0 X1) (k6-zboolean X1 X0)))

Assume the following.

VX0.(vl_zboolean X0)=(VX1.(vl_zboolean X1)=(k6_xboolean
X0 X1 = k5_zboolean (k3-zboolean X0) X1))

Assume the following.

VXO0.(vl-xboolean X0)=(VX1.(vl_xboolean X1)=(k5_zboolean
X0 X1 = Ek3_zboolean (kd_zboolean (k3_zboolean X0) (k3_rboolean

X1))))

Assume the following.

VX0.(vl_xboolean X0)=(VX1.(vl_zboolean X1)=(kd_zboolean
X0 X1 =Ek3_zemplz 0 X0 X1))

Assume the following.

VXO0.(vl_xboolean X0)=(k3_zboolean X0 = k6_xcmple0 np__1 X0)
Assume the following.

VX0.(vl-zboolean X0)<((X0 = kl_xboolean)V (X0 = k2_zboolean))

Assume the following.
k2_zboolean = np__1

Assume the following.

k1_zboolean = k6_numbers

(14)

(17)

(18)

(19)



Assume the following.

VX0.VX1.((vl_zboolean X0)A(vl_zboolean X1))=(
k5_zboolean X0 X1 = k5_xboolean X1 X0)

Assume the following.

VX0.¥X1.((vl-zboolean X0)A(vl_zboolean X1))=(
k4_zboolean X0 X1 = kd_zboolean X1 X0)

Assume the following.

VXO0.(v7-ordinall X0)=(vl_xemplz_0 X0)
Assume the following.

VX0.(vl_zboolean X0)=(vT_ordinall XO0)

Theorem 1

VX0.(vl_xboolean X0)=(VX1.(vl_zboolean X1)=(k4_xboolean
X0 (k7_zboolean X0 X1) = k4d_xboolean X0 X1))



